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from math import *

def u(n):
k=1
while k*(k+1)//2<n:

k=k+1
return k

def v(n):
pas=1
nbpas=1
for i in range(1,n):# on ne fait brien si n=1

if nbpas==pas:
pas=pas+1
nbpas=1

else:
nbpas=nbpas+1

return pas

def f(x):
return(x*(x+1)/2)

def g(y):
return (-1+sqrt(1+8*y))/2

def uu(n):
return -floor(-g(n))

def verif(n):
for i in range(1,n+1):

if u(n)!=u(n):
return False

return True

for n in range(1,20):
print([n,u(n),v(n),uu(n)],end=’ ’)

In [1]: (executing lines 1 to 36 of "uusuitedm.py")
[1, 1, 1, 1] [2, 2, 2, 2] [3, 2, 2, 2] [4, 3, 3, 3]
[5, 3, 3, 3] [6, 3, 3, 3] [7, 4, 4, 4] [8, 4, 4, 4]
[9, 4, 4, 4] [10, 4, 4, 4] [11, 5, 5, 5] [12, 5, 5, 5]
[13, 5, 5, 5] [14, 5, 5, 5] [15, 5, 5, 5] [16, 6, 6, 6]
[17, 6, 6, 6] [18, 6, 6, 6] [19, 6, 6, 6]

In [2]: verif(1000)
Out[2]: True
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